Note : Read all instructions given below before writing answers
€50.03. BEO: B35® eoBO0 @50, & e coects em)

csc,em@ 886 fﬁéﬁ goRS®.

88086 §ws®m D edesdn ®) &G HBRSR DX pne® ®) B BHBe BKS.

. Select the most appropriate word for the respective blanks of the following sentences, from the given list.
S0 DD DE Btocs, s E4id DO gndsl DS cfo DDr 620 BBeDBS aems mosi®.

(i) Simple esé@ (ii) Complex e3oStgn (iii) Open &&a» (iv) Closed e30®az
(v) Stable 63083 (vi) Dynamic ®8» (vii) Adaptive exn®tom  (viii) Non-adaptive eaemn®btdm
(ix) Permanent 386 (x) Temporary @08
a) system Interacts with its environment.
8B B0 BO® SHBEE) BeO.
b) system undergoes rapid and constant change over time.
B5ENBED MEG BO® TBENWD BOROTD 60D23mE Beed.
C) system exists only for a relatively short period of time
&GS 65580 60 RGBS SO8.
d) system has few components, and their relationship or interaction between elements is uncomplicated and
straightforward.
sEBED 6O BB SEIEE s g F) g gDl BBRSD) oRDEN 6aN6d.
e) system undergoes very little change over time.

&5E0BED DIEG 5O® 6DN3DE BeDS6S 9m) R D®EES. s
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f) system has no Interaction with the environment.
&8RS e30edEm B® ESHVEE) BeeMOE.

g) system has many elements that are highly related and interconnec

808D 60 BmE 9BHGD 48 gd F0) gm0 o BV BRSO 5O.

h) system is not able to change in response to changes in the envir

s80BEmO sdeded Bedm 6dHDB DD cd® BFDO B 6DDEDB 6IIWTD.
i) system exists for a relatively long period of time.

S5ENBGE 0630 BBt QB SO8).

) system is able to change in response to changeés inthe environment.

03.

(i) Produced Output @:@a 8w
(iii) Efficiency mibcws®=0
(v) Consumed Input @@ eperas

08 6R) BEO56E B&DD EENDD GO

(Q2) INFORMATION&TEMS @D/)OQOC [ol=A]s)

(iii) Control Unit sne® Sowm
(vi) Input Devices epe»

b) Five (05) Devices / Units of a Computer related to above five (05) Activities of Computer Baséd Inf6

are A), (B), (C), (D) and (E)

(vi) Software Technologies (vii) Databases i (ix) Telecommunications
f: (xiii) Visual Display

(xv) Management Technologies
What are the four (04) technologies used in a Compugef B

OB PED 6MNOROT SERNEED NDDD &I DB DO (04) e@rdde ?

What are the five (05) output types of p(ter Based Information System ?
OB PED 6MNOROT SERNEE b 8888 db® s® (05) 6@0dg ?
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03. Select the most approMective nks of thé following sentences; from the given list.

S0 S O 205, 59D & g8 DD® 4ds DRI B D96 i) BBedBS tcHms mdsi®.

(iv) Inputs epeyen
(vii) Output sBeras
(xi) Input eperencs

Five (05) Activities
MOt BSEQBED 5D

an Information System are A), AB), (C), (D) and (E).
5 e (05) (A)(B), (C), (D), o» (E) eB.

c) Five (05) Components of an Information System are (A), (B), (C), (D) and (E).

os® (05) (A), (B), (C), (D), o» (E) 8.

(Q3) DATA and INFORMATION et5e» e Seeyess/6:0maT

. Selectthe most appropriate@d for the respective blanks of the following sentences, from the givenlis

is a general term used to denote
that refer to describe an idea, a situation or a condi

02. Select the most appropriat

(i) Dissemination,
(v) Data Entry,

(x) Flexibility »@s88 @8, (xi) Relevance goe @O
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d) : information can be used for a variety of purposes
685 6MONOT BBR) DIVBES BED) BEIGDHD RD6S.

e) : of information describes the correctness of the information
68 60ROt DE SDOERDES.

f) : in the representation of information is also a very useful feature utilized to improve the usability of information in the
decision making process
68 6MOROT O NDDED OB DDED.

g) : is error free nature of information.
8 6MORGT O D08 6N8E DDED.

h) : it is essential to be able to access the correct/ relevant information by authorized personnel at the right time to meet
their needs.
68 6MORNOT GO BEG®EMO §dms 65@DD EDODHTD ROED.
i) : the value of information could be lost due to issues such as unauthorized user access or intentionally damaging its
existence.

68 6MORNOT FDO®S HEDRBHBD EDI®D 63NHTS DOES.

) : If it is possible to confirm the reliability of the information about its correctness (validate), it becomes verifiable
Information.
68 6MORNGT OE SOTOEMOG DHEGT WOGD®TS DD6S.

k) - Information is determined based on the usefulness of information with respect to the decision making process.
68 6DORNOT BOLN GSO BED) GEIEDND 6isDDS ROED.

(Q4) COMPUTER SYSTEMS and INFORMATION esd@gnm s€08 & 600t

01. Select the most appropriate words from the given list and write answers for the following.
SHD B BEK), 80D Eaid DO gndal DENS B DD® eIk BBmGt Bredm.

(i) LINUX, (i) Speed, (iii) End Users,  (iv) Microsoft Office, (v) Storage, ,
(vii) Accuracy, (viii) Retrieval,  (ix) Graphic Designing Software, (x) Operating Systems,

(xi) Developers, (x) Reliability, (xi) Programming Languages, i) Vi iting Software,
(xiii) Versatility, (xiv) UNIX, (xv) Development Managers,

(xvii) Utility Software, (xviii) Automation, (xix) Windows

a) Give three (03) examples for System Software ?.
sd®ED SEOS Bagmo® BE®) CEDOH D (03) ecs.

b) Give three (03) examples for Application Software ?.
sd®ED 6reHB Bagimo®d BEem) CEMosN noe (03) cced®

¢) What is the most important System Software of a computer ?
sdD®ED G Do eSS Bagmoms Y WO 2

d) What are the eight (08) Functional Characteristi
oG Goend sesn o (08) 6@

sD®ED PED 6MONOT SEABG

02. Select the most appropriate
50D e D S8

(xi) Internet gxSobeeem, (xii) Hardware gatnom, (xiii) System

6 e8Bedem sOOn Brdsiang programs & instructions 8.
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¢) The primary function of software is to apply power of the computer to givée individydls
enterprises the ability to solve problems and perform specific tasks.
[Sleloloulm

d)

f)
9)
h)
i) Acomputer

[SleloYonr)

i) The

2,
@D @c’z)z@ O BBE:
i '

organization.

TS BBmsnm &S 008D

m{% ords from the given list and

ark Recognition,

(vii) Control Unit,
(xi) Central Processing Unit,
(xv) Super Computer,

a) What is CPU stands for ?
CPU gmoc 8% gecmed
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02.

i) What is MICR stands for ?
MICR epepde B eemed DeSess nd®wde ?

j) What are two (02) types of Access Methods ?
6®® c0® DE Hede B® ecw (02) wdSe ?

Select the most appropriate word for the respective blanks of the following sentences, from the given list.

oHD goIe® DR Btoes, oo Eqid DO» gnds DLy 8o DDo»r 6mid) BBedBS eacms mds®.

(i) Softcopy ®agB0es25, (i) Secondary £888e (i) Input ey, (iv) Output g8 e,
(v) Pointing e8¢, (vi) Hardcopy, cad80ee (vii) Audio @O, (viii) Optical gmi®,

(ix) Keying cpdzecm, (x) Magnetic BB

a) Permanent storage devices are Storage Devices ?
8806 BWES BD EeNoB®ED.

b) Compact Disc (CD) is an Storage Devices / Media ?
Compact Disc (CD) D CBI®EES 68.

c¢) Harddisk is a Storage Devices Media ?
Harddisk D EeNoBEE 68.

d) Floppy Diskettee is a Storage Devices / Media ?
Floppy Diskettee B Ee0®ES 68.

e) Digital Versatile Disc (DVD) is an Storage Devices / Media ?
Digital Versatile Disc (DVD) D BB 68.

f) Tapes are Storage Devices / Media ?
Tape &0 AW EBIBHEE 68.

g) Keyboard is a Input Device.
(Glo)e1dw1dle14d) D ELNoBEE.

h) Microphone in an Input Device ?
BByesING FIB® ELNoBEE.

i) Scanner and Barcode Reader are two Input Devices ?
Swzende o Barcode Swdemces D Ee50WES.

j) Mouse, Trackball are two Input Devices ?
@8wes & Trackball o OB EENoDES.

k) Output can be either printed on paper or any other permanent media called a
5B Y EEHE OO M) 6OMS ENRBGBD O ERIEH DO g;&@:)es) e8.

) Output can be displayed on a screen or to other nonpermanent means such as on a floppy disk, called a
88e)® BOG @0 60 60msy ARBHEED ®HO®) @RIED &tldd 8Be® 68.

m) Sometimes from one computer can be an to another computer.
0560 D sdBDWED D 2O SDEHWED > Bomem.
n) Printeris a output device.
Slalelele 8B CeN0®EE.
p) Speaker is an output device.
[Sleimlele) 5BOB £LNDEE.
q) Visual Display Unitis a output device.
oy elelr &8 EeNo®EE.
r) Speaker is a output device.
[Raimele BB CeN0®EE.
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